restart
Funcion := y(x) =exp(3-x)-cos(4-x)

Funcion = y(x) =¢ " cos(4 x)
DerFun = diff (Funcion, x)

d
DerFun = -~ y(x) =3 ¢’ “cos(4x) —4¢e “sin(4x)

DerDerFuncion := diff (DerFun, x)
2
DerDerFuncion = e y(x)=—7¢"cos(4x) — 24 ¢ sin(4 x)

Final := DerDerFuncion — 2-3-DerFun + (9 + 16)-Funcion
2

: d d
Final == E y(x)—6 & y(x) +25y(x)=0

restart
Ecua == y"—7-y'+ 12-y=5-exp(6-x)
Ecua = d—2 y(x)—=17 a4 y(x)+12y(x)=5e
d’ dx

Solgral := dsolve(Ecua)

Solgral = y(x) =¢' "¢, + &' "¢, +

restart
Ecua == y"—4-y'+4-y=2-exp(2-x) + 8-x°
d’ d
Ecua = e y(x) —4 ™ y(x) +4y(x)=2¢"+8x
SolPartQ = y(x) =A~x2-exp(2 x)+B+Dx+ E-x
SolPartQ = y(x) =Ax" &*+ B+ Dx+ Ex’
Para := simplify(eval(subs(y(x) =rhs(SolPartQ), Ecua)))
Para =2A¢"+ (4xX —8x+2)E+4Dx+4B—4D=2¢&"+ 8%
EcuaUno :==2-4=2
EcuaUno :==2A4=2
EcuaDos == 4-E=38
EcuaDos := 4 E=8
EcuaTres :=—8-E+4-D=0
EcuaTres == —8 E+4D=0
EcuaCuatro :==2-E+4-B—4-D=0
EcuaCuatro:=2E+4B—4D=0

Parametro := solve( { EcuaUno, EcuaDos, EcuaTres, EcuaCuatro}, {A, B, D, E'})
Parametro := {A=1,B=3,D=4,E=2}

SolGral = y(x) =_CI-exp(2x) + C2-x-exp(2:x) + A-x*-exp(2-x) + B+ D-x + E-x’

SolGral = y(x)= Cle"+ C2x&*+A4xX & +B+Dx+EX
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SolFinal := expand(subs(A =rhs(Parametro[1]), B =rhs(Parametro[2]), D
=rhs(Parametro|3]), E =rhs(Parametro[4]), SolGral))

SolFinal == y(x) =_CI (ex)2 + C2x (ex)2 +x (ex)2 +34+4x+2x

Ecua
& (x) — 4 4 (x) +4y(x)=2¢&"+8x
Comprobar = simplify(eval(subs(y(x) =rhs(SolFinal), Ecua)))
Comprobar :=2¢* +8x* =2+ 8 x°

restart
Ecua = diff (y(t), 1$2) + 9-y(t) =2-sin(3-¢)
2
Ecua := % y(t) +9y(t)=2smn(3¢)

SolPartQ = y(t) =A-t-cos(3-t) + B-t-sin(3-¢)
SolPartQ = y(t) =Atcos(3¢t) + Btsin(3t)
Parametros := simplify(eval(subs(y(t) =rhs(SolPartQ), Ecua)))
Parametros := —6 Asin(3t) + 6 Bcos(3¢) =2sin(3¢)
EcuaUno :==—6-4=2
EcuaUno == —6 4=2
EcuaDos := 6-B=0
EcuaDos == 6 B=0
Para := solve({EcuaUno, EcuaDos}, {4, B})

Para = {AZ —%,BZO}
SolGral == y(x) = _Cl-cos(3-t) + C2-sin(3-t) + A-t-cos(3-t) + B-t-sin(3-1)
SolGral :=y(x)=_Clcos(3t) + _C2sin(3t) + Atcos(3¢t)+ Btsin(3¢)

SolGralNoHom := subs(A =rhs(Para[1]), B=rhs(Para[2]), SolGral)

t 3t
SolGralNoHom := y(x) =_Cl cos(3 1) + _C2sin(3 1) — = C053( |

Ecua
d2
? y(t) +9y(t)=2sin(3¢)

Comprobar = simplify(eval(subs(y(t) =rhs(SolGralNoHom), lhs (Ecua) — rhs(Ecua) =0)))

Comprobar == 0=0
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